Distributive Grid multiplication with two three-digit numbers (3x3)

Solutions are on page 2

@ 927 x 365 = 338,355 @ 868 x 391 = ® 511 x 497 =
900 20 7
270,000 hundreds
21288 270,000 6,000 2100 | 300
5‘11:288 54,000 | 1,200 | 420 gz)
420
4?88 4500 [100 |35 ges
35
338,355
@ 264 x 790 = ) 576 x 347 = © 280 x 308 =
@ 537 x 658 = (® 260 X 657 = © 779 x 297 =
(10 402 x 268 = (1) 136 x 759 = (12) 615 x 817 =
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Distributive Grid multiplication with two three-digit numbers (3x3)

Also see video: '‘Multiplying Multi-Digit Numbers with the Distributive Grid Method'

@ 927 x 365 = 338,355

hundreds tens ones
900 20 7
270,000 hundreds
6,000 |270,000 6,000 [2,100
2,100 300
54,000 fens
1200 |54000 |1,200 |420 60
420
ones
4500|4500 100 |35 5
100
35
338,355

@) 868 x 391 = 339,388

hundreds tens ones
800 60 8
240,000 hundreds
18,000 |240,000( 18,000 | 2,400
2,400 300
72,000 ens
5400 |72.000 |5400 |720 920
720
800 ones
800 60 8
60 1
8
+
339,388

®) 511 x 497 = 253,967

hundreds tens ones
500 10 1
200,000 hundreds
4,000 |200,000( 4,000 |400 400
400
45,000 fens
900 |45.000 |900 |90 90
90
ones
3500 3500 |70 7 7
70
7
+
253,967

@ 264 x 790 = 208,560

hundreds tens ones
200 60 4
140,000 hundreds
42,000 | 140,000 42,000 | 2,800
2,800 700
18,000 ens
5400 |18.000 5400 |360 90
360
o ones
0 0 0 0 O
0
+
208,560

® 576 x 347 = 199,872

hundreds tens ones
500 70 6
150,000 hundreds
21,000 (150,000(21,000 | 1,800
1,800 300
20,000 tens
2,800 20,000 (2,800 |240 40
240
ones
3500 13500 [490 |42 7
490
42
+
199,872

© 280 x 308 = 86,240

hundreds tens ones
200 80 O
60,000 hundreds
24,000 (60,000 | 24,000 |0
0 300
0 tens
o |0 0 0 0
0
ones
1600 11600 |640 |0 8
640
0
+
86,240

™ 537 x 658 = 353,346

hundreds tens ones
500 30 7
300,000 hundreds
18,000 (300,000 18,000 (4,200
4,200 600
25,000 tens
1,500 25,000 | 1,500 (350 50
350
ones
4000 14000 |240 |56 8
240
56
353,346

®) 260 x 657 = 170,820

hundreds tens ones
200 60 O
120,000 hundreds
36,000 120,000/ 36,000 (0O
0 600
10,000 tens
3,000 10,000 | 3,000 |O 50
0
ones
1,400 11400 |420 |0 7
420
0
+
170,820

Q) 779 x 297 = 231,363

hundreds tens ones
700 70 9
140,000 hundreds
14,000 (140,000 14,000 | 1,800
1,800 200
63,000 tens
6,300 63,000 (6,300 |810 90
810
ones
4900 14000 [490 |63 7
490
63
231,363

(10) 402 x 268 = 107,736

hundreds tens ones
400 O 2
80,000 hundreds
0 |80,000 |0 400
400 200
24,000 24,000 | 0 120 py
0 ’ 60
120
ones
3,200 13500 |0 16 8
0
16
107,736

1D 136 x 759 = 103,224

hundreds tens ones
100 30 6
70,000 hundreds
21,000 (70,000 |21,000 |4,200
4,200 700
5000 tens
1500 |5000 [1,500 (300 50
300
ones
900 1900 [270 |54 9
270
54
103,224

(12) 615 x 817 = 502,455

hundreds tens ones
600 10 5
480,000 hundreds
8,000 |480,000] 8,000 |4,000
4,000 800
6.000 tens
100 |6:000 [100 |50 10
50
ones
4200 14000 |70 35 7
70
35
502,455
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